= AH O
M = 0O & AF & & A A
2010 = 20 A UBHE N RRIAIL A ~ ZZTAR A
SA BT A A
M AZE XEsls 2PN =4
CHol: U TR 22U D)
_ _ _ AT
SN EB -GS - MBAY - BES 0] &F o e HRE2
THRX ALY A 8,586, 151 19,196,985 A 10,610,834
2 2,500,000
J| 600,000
= 1,050,000
2 4,436,151
U=z [Este 2N =4 5,534,200 14,857,793 29,323,593
2 1,000,000
J| 600,000
< 600,000
2 3,334,200
SIS TR 22U 543,220 581,865 38,645
=2 o giE2e 73,200 85,150 A11,950
201 Lsr2Y| 69,200 78,150 8,950
01 A2 22l 69,200 78,150 8,950
OYX NS0ISH(E2TN) M=
30,0000H* 100 3,000
ORI MAZEE QEtR2IH|
350,000 * 12 4,200
OOIQAEL SAZ(2TN) M=
30,0000H %1002 3,000
OUBE =8 oME K=
50,0000 *200 2 25 20,000
OUSE B9 A0 J= 100, 0002 *707H 7,000
OEE2tE = 100, 0002 235 « 1074 A 2,000
oW 2| QMEE HB 2= 7o
3,00074%10,000%! 30,000
203 2 =AY 4,000 4,000 0
03 Al =R QD ETY| 4,000 4,000 0
OUSEBYN 2L AHEX
20,0008 *10% «103] 2,000
OUZBZR XHH PREX
20,0008 *10Z 103 2,000
22X e 470,020 496,715 26,695
101 Q1A 36,771 35,823 948
04 JIZM2ENSE A 36,771 35,823 948
o4t BE2 36,771
OR0IAZ2S2 433, 163,0002 +45/1,000 19,493
O/EE S 433,163,0002 +6/1,000 2,509
ongeseg 433,163,000 «15/1,000 6,498
ozEEE 433,163,0002 *18.15/1,000 7,862
opuesE 7,862,000 *4.05/100 319
201 Lsr2Y| 408,529 439,292 A30,763
01 A2 22l 5,444 22,800 A17,356




SA 2 XA A
M AR E N&ot= 2&X =24
ool getmarad Xl 222 (9 E2
A BB O(B) - NEAY - BAS Of o e Hl R =2
oMY 5,000& x40+ 12& 2,400
(OFSEWI I §=g=4 6,000 »2CH x 12 144
oZuzd =¥ 200,000 x1H «12& 2,400
O=J & JtzJ| 74 10, 000& *50H 500
02 2223H| 403,085 416,492 A13,407
ORER3 1,093
Osl 1,720 208« 128 413
OBs 3403 *2,000S 680
OYEE 4ER3 3,500,000 x12& 42,000
O&dEIN Y M= 1,500,000& x12& 18,000
oMY Il =H =2 150& +8,000kg*12& 14,400
Ot D| A=l 288, 0003 *5H A 1,440
OUWHIl A=l 200,000& x4 & 800
ORINGHHBLT UB++2
1,000,000& x12& 12,000
O©CCTV ¥ &&E |RXl22/Hl  600,000&+12& 7,200
O2+Hel =5 412,920 x33| 1,239
O=&ZAN =25 150,000& x 13| 123 1,800
OZYANEE BY =2 24,884
OIEdE2L] =25 22,0003~ 12& 264
oOvEgIe =5 400,000& x12& 4,800
ORIIXIA &2 10,000
OEAANAE RANESZ
50,0002 »10CH =12 6,000
OYTH LUALE RANESZE
200,000& x12& 2,400
ORHIEHTI| =2 20,000& x12& 240
OItAZBMNE=T 30,000& *37 A +23] 180
Oo3de exz 500,000& x23] 1,000
OBE® 4,680
OOAEH BEEZ 3,500,000& 13| 3,500
O0lgaXt BE&& 80,000 = 1CH 80
OXt=sit BE&g 550,000 »2CH 1,100
(ORFSPIESE=, 234,690
O A =T 2 11,250,000& x 123 135,000
O A TLSH AL 8,307,500 x12& 99,690
O IR AL 10,059
(@F=F=5=1 3,349,000 «1CH 3,349
O4agst= 2,605,000& +2CH 5,210
O0lEXt 500, 0003 =3CH 1,500
OBCHAIAE EAZ(160HA)
150,000& 1690 212 28,800
202 O4dl 18,720 15,600 3,120




SA: BRXAYA
Ha: ARS XSots 2R T4
ool gE AN 2R (e @
SA-BH.C(BH) - HRAY - B Ofl & o gggﬁ Rz
01 =Ujoit] 18,720 15,600 3,120
ORUE IO 65,0008 %2421 x 122 18,720
206 T2 bl 3,000 3,000 0
01 T2l 3,000 3,000 0
024+ MY 2YSE 7Y
30,0002 * 10 108l 3,000
301 YsrPAS 3,000 3,000 0
10 SAAIHI A 3,000 3,000 0
OABITHH ¥ |2 UAZA B4 BA3
10,0002 *52 +602 3,000
SHEBBA ALE 23 L 22 997,648 983,128 14,520
A2 2P 415,775 492,371 176,59
101 Q1248 67,320 115,116 N47,796
04 JAM2RIISES 67,320 115,116 ~47,796
OFHZ 22l ALY 26,928
ool 33,0002 %23 #2512 16,566
OFU2L 25 33,0008 *150%+2 <622 6,138
ORZ28Y+Y 33,0002 %2 +522 3,432
oozt +g 33,0002 %22 *12L 792
CEERNIURRCIE-T 13,464
ool 33,0008 %124 %2512) 8,283
Ofgaesg 33,0002 * 150%+1 2 x6224 3,069
OR28Y+Y 33,0002 %1% +522 1,716
el=PEe= 33,0002 %12 +122 396
OXMFAIB 2ol 2129 13,464
Oolsy 33,0008 %124 +2512) 8,283
Ofgaesg 33,0002 * 150%+1 2 x622 3,069
OR25Y+Y 33,0008 %1% +522 1,716
ORI+ g 33,0002 %1% +122 396
OYEITION el o=y 13,464
ool 33,0008 %1% %2512 8,283
Of2ae+g 33,0002 * 150%+1 24 ¥622 3,069
OR2R/Y+Y 33,0008 %1% +522 1,716
el=P s 33,0002 %1% +12 396
201 Yer2g| 33,480 26,520 6,960
01 AtR2elt| 4,800 3,000 1,800
OFAREY SEPY 300,000 x8IH 423 4,800
02 222 28,680 23,520 5,160
©5YJ| 2l BAH  200,00021 %87 A * 128 19,200
©5YI HIIZA 248 120,008 *8H 2 960
OFUMOTAIZ HABA 500,000 +128 6,000
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S BRIAIE A
M ARE NYols 22X =4
CHel: QS TURAR AlEES 29 L 2 (ol ®
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
OFHZ 2gatzel =42 210,000« 12& 2,520
206 X2l 58,890 69,850 A 10,960
01 MYl 58,890 69,850 A 10,960
OFEZA0 Zol7Y 200,000 x12& 2,400
ODLP PROJECTRHIZ ¢ 800,000 *12CH* 1] 9,600
OF M2 LLrxy [ 5000220004 122 12,000
OFH2 E+x¥ 7Y 17,320
OELLIPSOID LIGHT(400AI2F D)
50,000 x54 93 2,250
OSPOT LIGHT(200A12¢ J1&)
45,0002 x240H x7 3] 7,560
OSTROBE LIGHT(6HE DIE)
150,000 x6JH 23 1,800
OF00T LIGHT(1,000A12¢ JI&)
15,0002 * 1874 43 1,080
OLOW HORIZONTAL LIGHT(1,000A12¢ D1 &)
10,0002 %9674 33 2,880
OEFFECT MACHINE 7,0002 x250H 1,750
04D a2 o+H R 7,0002 x200H 1,400
o2 2HSE(HZ) 8,470
ORYUH0lE #HZ 517,000 x2JH x23] 2,068
OTt 20IE I (2500) 44,000 1204 %23 1,056
OTt 20IE &I (5750)  82,500& *4JH+23] 660
O A0S 2H0IE BT 77,0008 x4 x23] 616
OAERY 2I0IE T 3850008 « 17§23 770
OLCDZ 2 HE T 825,000 *2JH x23] 3,300
OXYAL 22 2H2E 2¢
15,0002 x5 %43 300
OYEINICINE 2F2E 7,400
OXIMAI o ¢ 900,0009! 23] 1,800
OLCDEZHME HT 700,000 *4IH2CH 5,600
307 2I2t0IA 21,000 21,000 0
05 QIZIRAE2 21,000 21,000 0
OXAZ A B2H 15,000, 0002 *13] 15,000
OXH A S 2 8t A5 5,000,000 *13] 5,000
OFHZ ¢ g9 200,0002 x53] 1,000
401 A& HIL R HY] 235,085 259,885 24,800
01 Al&Hl 235,085 259,885 A24,800
O2X)| ZH WA= 115,500 x35JH 23 8,085
O4D0 Fa2 MH(Z 21=ZH4)
14,000,000 *2CH *13] 28,000
OE4A H24I MAZY 6,000,000 *14] 6,000
owugd| S 1,5002 10,000 £ *8& 120,000
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A 2EXAS A
g dK]E Neote 22X =4
o SR AMEE 2Y & 2l (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
O4G A2 (HL I WH) 4,000, 000& *42] 16,000
O MR =2, 2= 50, 000& 2004 10,000
OdHHED] AlZ 0SS 1,500,000 20 2 3,000
O&AZ 8 ST wHSA 12,0003 6000 2 7,200
OZEIDICIN 2 HHl==clbl
460,000,000& *0.8%*10& 36,800
HoAE 232 339,576 267,868 71,708
101 el 24| 246,876 197,168 49,708
04 JIZtHZ2HSE= 246,876 197,168 49,708
olE=g AFY 53,856
ogRy 33,0003 x4 »251 33,132
OFga2f=¢ 33,0003 »150%*4H «62 12,276
OrRs5g=+4 33,0003 x4 H x52 6,864
Odxt=4 33,000 x4H x 12 1,584
ovgsy 249 URY 26,928
ogEy 33,0003 x2& »251 16,566
Osgd2Rd 33,000 *150%*2H 622 6,138
ORrRs5g=H 33,0003 x2H 52 3,432
O xt=4 33,000 x2H x 12 792
OAHIAY 29 URY 40,392
ogEY 33,000 x3& x251 24,849
Osga*R=d 33,0003 *150%*3H 622 9,207
ORsSsgsd 33,0003 «3H 52 5,148
Odxt=¢ 33,000 x3H x12& 1,188
oHad el A=Y 13,464
ogRY 33,0003 x1&»251 8,283
Oxd2R=d 33,000 *150%x* 12 622 3,069
ORrsSsg=sd 33,0003 «1H x52 1,716
Odxt=¢ 33,000 x1H*12& 396
OEEJ A 2 40,392
o2y 33,0003 x3& »251& 24,849
Osgdad*R=d 33,000 *150%*3 & 622 9,207
Orsndsd 33,0003 «3& »52& 5,148
Og x4 33,0003 «3% =12 1,188
O=sEE 28 oRY 32,640
oy 40,000 x2H %251 20,080
Oxd2R=d 40,0003 * 150%+2H 62 7,440
Orssdsd 40,0003 x2H 52 4,160
O¢xt==¢ 40,0003 «2H x 12 960
O=g% 22l 2FY 13,860
oy 33,0003 x5 60 9,900
Oxge2R=¢ 33,0003 *150%*5H 10 2,475
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fA 2 X AE A
Rz ol2
o Tt TT

S

USRS EPS
Sel: ZEEBBX ALS 29 2 el (crel @
_ _ _ N E
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K ‘Oﬁ,‘\jg‘; Hws2
ORZELLY 33,0009 +52 +92 1,485
OZ0IYYR olrY 5,544
ool 33,0008 x2Z +602 3,960
OFY224+Y 33,000 *150%+2% * 10 990
ORSEY+Y 33,0008 x2% +9 504
OFL22R 21FY 33,0008 *150%+4% «1002 19,800
201 Yer2oy| 61,700 58,200 3,500
01 At2elt| 11,200 7,700 3,500
OBMCI SHEE 7Y 100,008 85 43| 3,200
OBMESA &7 A 10,0002 * 128 1,200
OOtZR 2YEE 7 400,0002 %55 2,000
OYAAE FI| PY  2,0008 <435 <5004 *304 £ 1,200
oucc EEX PY 300,0002! * 122 3,600
02 BB 50,500 50,500 0
OE™I} K22 5,000, 00021 24! 10,000
OEYI} REU
1,5002 %2, 5km* 1231 #1.5 £ *2CH %300 40,500
206 T2l 5,000 5,000 0
01 THEHl 5,000 5,000 0
OOIAZR oZ U MEPY
500, 0002 *5%5 23] 5,000
401 N EHIL =Y 10,000 0 10,000
01 Al&Yl 10,000 0 10,000
OO0FQI 4R &X 2 I 10,000,0008 * 14! 10,000
405 XtobE S| 16,000 7,500 8,500
01 RAUSEF S| 16,000 7,500 8,500
OXISEONI(Zete MEE) 72
4,000,0002! 2CH 8,000
OEANAEY 7O 4,000,000 *2CH 8,000
BN RN 242,297 222,839 19,408
101 2124t 90,194 87,367 2,827
04 JRAM2EXS 24 90,194 87,367 2,827
OZENJ| =g QI2e 33,0008 *58*152 23| 4,950
oY ol 90,0002 2% %102 23 3,600
ogzmel ARY 54,716
ool 44,7002 3% *2512 33,660
OFY224+Y 44, 70081 *150%+3% 622 12,472
ORZEL+Y 44,7009 3% +52 6,974
0% Xt 44,7009 3% * 12 1,610
oA 2| o2 26,928
ool 33,0008 x2 %251 16,566
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SN 2BRAL A
Hm: A2 Ngots 2N E4
Sl QEEABN NES 29 Y 22 (25l &2
- - o HEE =
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
SEPEEPN= 33,0002 * 150%+2] x622) 6,138
ORzEL+Y 33,0002 x22 #5221 3,432
O x4 33,0002 x2% « 122 792
201 LByl 63,298 58,562 4,736
01 At 23,400 32,100 A8,700
OBZHFA 225 7Y
100, 0002 * 124 A+ 122 14,400
O Y MATT Y 50,0002 %155 122 9,000
02 ZZ2Y| 39,898 26,462 13,436
oA=2 RA 2L 34,298
O o BHE2 2,47021 %992 2,451
OFAIZH(10H ) 2,47021+11, 4221 28,213
OYHAIL & B (THA)
1,68721%1,675m 2,826
Ost & al (644) 78121582 455
OJIEHAI & 37124950 353
©A2I1, 050 S SN2l 40,0008 *4Z 1,600
OFZ2HAT SYSE 7
200,0002 *5 5 *43] 4,000
206 T2l 49,205 16,960 32,245
01 T2l 49,205 16,960 32,245
CELTET 10,0002 *4Z5+102] 4,000
Sl 2 HlR e 25,0002 200 5,000
O=0IAEE 2227 IHRY 3,000
ASSE MBTY 20,0008 <7 E x5 122 8,400
CEEZLT 30kg*1, 0002 +3Z5 122 1,080
OSHELE SHEF 7Y 5002+10,0002+23] 0,000
OFEY Y ALFII IR
25,0002 *1,0187H+1/23] 12,725
OJNBE U BAS BIPY 25,0002 +2000H 5,000
307 L1201 H 39,600 60,000 220,400
05 BI2tSIEt3 39,600 60,000 20,400
O Y 2SS 3,300,00024 + 122 39,600
2N E4 3,319,959 9,451,000 £6, 131,041
=l 1,000,000
| 600,000
= 600,000
2 1,119,959
ST N 1,615,000 5,690,000 4,075,000
= 1,000,000
= 600,000
2 15,000
401 AEHI LS 1,615,000 5,370,000 £3,755,000




fA 2 X AE A
M U42E NS 2B X4
el 2&3X X4 (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
cto=m s I ° - == S = &= 0:”/&,% WS
= 1,000,000
= 600,000
i 15,000
01 Al&HI 1,600,000 5,345,000 A3,745,000
ogsrZa2Z X e 1,300,000
& 1,000,000
L= 300,000
O+ EAY 300,000
& 300,000
03 Al =20HHl 15,000 25,000 210,000
ogsEaZ X g 15,000
getZa2tZ X JIgtAIZ8 3| 254,959 361,000 A 106,041
401 Al&HI LS04I 254,959 361,000 A 106,041
01 Al&H| 254,959 361,000 A 106,041
O1F=XE X=Xl &X
20,000,000 * 14 A 20,000
OLEDE 2 0ld X AE I A}
15,000,000& 24! 30,000
OS2 XHHI| Gt*A X 5,000,000 «270 £ 10,000
O MAIZ SotEH ZHISA
400,000 *5004 2 20,000
OUABEHB S THBA
55,000& x672m’ 36,960
O2=+XMl& JYEIEY MI[EH WS A
8,000, 000& 14! 8,000
OO &Al MSESSEX A=
25,000,000 * 14! 25,000
OYRE=E TEISA 10,0503 =4,975m" 49,999
Oz EE=EE =2 &l
25,000,000& =14 25,000
OZEINICIHZ Al8EZ 30,000,000& *14! 30,000
SEHIOtsr2t A 750,000 1,000,000 A250,000
Il 600,000
= 150,000
401 A &HIZL 2048 750,000 1,000,000 A250,000
Il 600,000
i 150,000
01 Al&H| 750,000 1,000,000 A250,000
OZEH0tutst2t Ag 750,000
| 600,000
= 150,000
gemzal =& HAEX Y 700,000 0 700,000
401 Al&HI LS04I 700,000 0 700,000
01 Al&H| 700,000 0 700,000




22 X AFE &
USE Tesis ZEI X4
BT x4 R
_ _ _ Muo
SA B G(E) - NEAY - B AroH i HREZ
O &H EXI0HY(A=75,531m")
700,000,000& 700,000
A ZHAI2A KX 400,000 3,600,000 A 3,200,000
PINAAZEES2 2X20oY) 400,000 3,600,000 A 3,200,000
306 £¢= 400,000 3,600,000 23,200,000
01 £¢3 400,000 3,600,000 23,200,000
OAA L& 400,000
AL Y OIHIE JH= 90,000 80,000 10,000
G EN A EX 5,000 5,000 0
307 GI12t0I & 5,000 5,000 0
04 QIRHHAIE X 5,000 5,000 0
OYHEHEYANRE 5,000
S LIHEEM EX 85,000 0 85,000
201 Let2d| 5,000 0 5,000
03 A2 EH| 5,000 0 5,000
OZHEAN S B2 5,000
307 QI2t0IA 80,000 0 80,000
04 QIHHALE X 80,000 0 80,000
O LUHE=M B2 80,000
&l 2l 60,395 59,734 661
HZEHEE &= 60,395 59,734 661
101 Q14| 10,395 9,734 661
04 JIZtHZ2Z2 s+ 10,395 9,734 661
oMPEAEE SNBel ALY 10,395
ooy 33,000 x1H*251 8,283
OFa=2=4° 33,0003 »1H 52 1,716
Ogxt=¢ 33,0003 x1H 12 396
401 AM&HIYL 2048 50,000 50,000 0
01 Al&Hl 50,000 50,000 0
O&M Y AIZE EH 50,000
SElLictsg2 EX2Y 122,978 102,066 20,912
SElLictsg 2 23 122,978 102,066 20,912
101 Q14| 26,928 25,216 1,712
04 JIZHMIZZ2XEE = 26,928 25,216 1,712
O=g& 22X 2F2Y 26,928
ooy 33,0003 x2H 251 16,566
O5g2*f+g 33,0003 *150%+2H x62 6,138
ORsSsgsd 33,0003 x2H x5 3,432
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SN BBTAYA

NB: U= MO BRI EH
ool ZERUsYZ 2X2Y (eel: &
_ _ _ Muo
SA - SR(E) - HRAY - BES 0 & 24 i HIRE
O%xtag 33,0002 %224 12 792
201 Lere gl 67,550 67,550 0
01 AFR22/H| 1,250 1,250 0
oAlZE MY EE7RY 1,250 %2000H 250
OARY HYBI Y 10,0008 +105+104 1,000
02 2Z2H| 66,300 66,300 0
ou#g RR7AY 1,50021 x2402 £ %1802 64,800
OAN&EY STl 3000002 +524 1,500
206 M EH| 12,500 9,300 3,200
01 MEH 12,500 9,300 3,200
osAlg A27Y 10,0002 %205 +252 5,000
oSt ¥ BETY 15,0009 %235« 1002 3,000
OYEH WH S%RY 20,0008 7515 2,100
OASMHIE LM % HETL
12,0002 ¥4 +50 % 2,400
307 12+0| A 6,000 0 16,000
05 BI2teIEta 16,000 0 16,000
OsYT S MW
10,0002 %205 *402 +23| 6,000
N EEETY 2,936,465 4,224,663 A 1,288,198
= 1,500,000
< 450,000
= 986,465
ZEet HEXEY 2,936,465 4,224,663 A 1,288,198
= 1,500,000
= 450,000
7 2 986,465
GBSO LAI 2 E 4 2,103,500 480,000 1,623,500
= 1,500,000
= 450,000
2 153,500
401 AlSHI LS OHY] 2,103,500 480,000 1,623,500
= 1,500,000
= 450,000
= 153,500
01 A& 2,003,500 477,000 1,616,500
OYSEHNLOt2ILIAIE =4 2,003,500
= 1,495,000
< 448,500
= 150,000
03 Al& SO 10,000 3,000 7,000
OYBENLO2ILIAIE =4 10,000
= 5,000
= 1,500




fA 2 X AE A
Zu: A ExEy
et GElDE YEXFA (ool @
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
| = 3,500
Hetel= 2 MENHE 520,000 3,320,000 22,800,000
201 B3| 20,000 20,000 0
03 A2 ZHI 20,000 20,000 0
oUs= I MLEUE =224 29 20,000
402 I XHE01H 500,000 3,100,000 A2,600,000
02 CI2+CHEH AR I 500,000 3,100,000 22,600,000
OoUet= I MRLEEAIZ 500,000
HLHE=2Y 312,965 424,663 A 111,698
101 el 104,515 89,763 14,752
04 JItHIZ2E2ENHEE S 104,515 89,763 14,752
Od=2us2 212 70,537
oy 96,890 x2H 252 x 122 58,134
Osssgdsd 96,8903 x2H x5 10,077
(@)%PNE=; 96,8903 x2H x 12 2,326
OUEEXR¥ o=2Y 27,141
ooy 74,5603 x 1B «252 123 22,368
ORssgsd 74,5603 x1H x5 3,878
O 74,5603 x1H 12 895
o401 2= 6,837
O3RA=Z2E = 80,502,000& *45/1,000 3,623
Ot THEE = 80,502,000& *6/1,000 484
ouns:sgx 80,502,000& *15/1,000 1,208
OHE=2E= 80,502,000 x18.15/1,000 1,462
OIRYEE= 1,462,000& *4.05/100 60
201 LBt A 89,000 123,400 A 34,400
01 AtS 22/t 80,000 64,000 16,000
O MRE Xt 1,500,000 x2= «12& 36,000
oY E=2g g2 20,000
ORESIWE A= 30,0003 *800Al 2t 24,000
02 =234l 9,000 9,900 A900
O7xd 29 |SJUl 1,800& *5,0002| & 9,000
301 LEtB A= 9,450 31,500 A22,050
10 ALAHIE &= 9,450 13,500 24,050
ORESsoxE JEbtdE=as &4 &
] 7,000 *30H x94 +53] 9,450
307 S12t01& 40,000 40,000 0
04 QIFHAIE X 40,000 40,000 0
ONdATH d= FAEMEUE KA 40,000
405 AHoHESHI 70,000 140,000 A70,000
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SN BRXAYA
LR EEE St
Sl ZEO HEXTY (S92
_ _ SIEN
RA B SA(BH) - NRAY - B 0fl b e HRE2
01 MALSEFHSH) 70,000 140,000 A70,000
0YIIeE 7Y 7,000,000% * 10TH 70,000
NS YA 115,486 114,529 957
Ol 2 U (2B A L) 4,200 4,200 0
LRIl 4,200 4,200 0
203 REZH| 4,200 4,200 0
04 RASYLRETY] 4,200 4,200 0
ORN2Y YPFETH| 350, 00024 + 122 4,200
DS AU (HZRIA L) 111,286 110,329 %7
282 | 53,686 74,329 £20,643
201 L2 53,686 74,329 £20,643
01 At 22l 53,686 74,329 720,643
ofH2Y I L8| 21,113
CEE 50,0002 *12§%3652! 18,250
ozl 7,000 %24 *60%+44! * 128 4,839
OZRIH 42t 34,0002 63| 204
OZREH EY 7Y 20,0002 *43] 480
O=AI EU 2 300, 0002 *43| 1,200
OYOIHIRIE Zat EH(SE)TY
400,0002! #63] 2,400
OANREE 7Y 20,0002 #5028 A +33] 3,000
0= Al |1 300, 00021 #53] 1,500
OmAI| |1 100, 0002 *33] 300
oOgNM 22 7Y L FRH
200, 00021 #25] 400
o1t 57,600 36,000 21,600
202 01t 57,600 36,000 21,600
01 2Uhoitl 57,600 36,000 21,600
CEINTE 200, 00021 *24% * 122 57,600
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